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The figures in the margin indicate full marks.
Candidates are required to give their answers in their own words as far as practicable.

Answer all the questions (Choose the correct option/ Fill in the blank/ Write the 1x15=15
full form)

T AT T wie (E Tealt @z M G [ SrEe od 39 For i =)
T HYIEedl S0y d@-eErd (16 9T BN oy @l ofs wgery 3T
AT eEE)

The driving force of an ecosystem is

(1) Biomass (i) Producers (ii1) Solar Energy  (iv) Consumers
IrEeCEE bifEE *ife ==
(1) A (i1) Tesime (i) OTa =ife (iv) 9w

uSel giva=re! aft=merr oifts 8
(i) IR (Biomass) (i) Ssaigd (i) 1 9w (iv) STHRRT

The best environmentally clean alternative fuel is—

(1) Diesel A1) CNG (ii1) Coal (iv) Petrol
=R ~fEeE T ey gEe 2@ —

(i) fetE= (ii) CNG (iii) == (iv) CoIG=
waraw gRaea] «if defeus W gue 8l

(i) SraTdl (i) 91 o9 o (CNG) (i) Plgen (iv) TETe
The World Environment Day is observed on every year.
#fe Te it o ifarat fags iifeve =0

T&E 99 &l f&s ey qaiawor fqgsw 7ss |

Write the full form of BOD.
BOD- 75 =15t &1
BOD @1 Q=T =14 oreend |

Kaziranga is famous for the conservation of

TifEmiel A Tl A |
TR I A TS B

The science of relationship of various organisms with their environment is known
as

(i) Geology (ii) Anthropology (iii) Ecology (iv) Economics
e [fes aem i wesT= 7aan REmE @ P @9 =0 —

(i) ema (o-fRer) (i) SOFRCAIEE (JogEm)

(ii1) @l (iv) Teiife

Tura Over
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s uerReT Sases gaiey fHae! T==E A =

(1) e (ii) Ag=fas (Anthropology)
(iii) arfeferatt (iv) srefeme
(g) Which of the following is not a renewable source of energy?
(i) Thermal Power (1) Hydroelectric Power
(iii) Solar energy (1v) Biomass energy
e @l aaeaeae sfeq Tey 77 ¢
(i) =12 =i (ii) TeEge =fe (i) GTe =fe (iv) Fcar =fe
Fefaiame 5a @ swier sdewia sia g
(i) T w1 (i1) Serfde]a wIfts
(iii) ¥ =1fep (iv) ITHIT (Biomass) e
(h) What does ozone layer absorh?
(1) Gamma ray (ii) Ultraviolet ray (iii) X-ray (iv) Infrared ray
GG ET T =T (7Y -
(1) sttt 2 (ii) Wfem@ea a0 (i) X~ 3t 951 3@ (iv) TaeEe o
G 9ol & e 78 2
(i) TamEr feemor (i) TRILAT fawoy
(iii) Tere fbeor (X-ray) (iv) $9B1IvE TR (Infrared ray)

(1) Vector means —
(i) Agent causing the disease
(ii) Agent transferring the discase causing pathogen
(ii1) Agent curing the disease
(iv) None of these

(SF9 0 T @RE -
(1) et iRt aifefaf (i) Cae Fie i 2= 9Eaea
(iii) G TSt aifeffE (iv) 1T 7
Haed @y aref
(i) TER® aw] (ii) NTTY] HEARS 9]
(i1i) 37T FERS avg (iv) THe | ufy g1
(j) Green House gas is referred to —
(i) Hydrogen (11) Carbon dioxide (iii) Oxygen (iv) Nitrogen

a1 SR <71 =0 A @RIE —

(i) 2ErEnEs (ii) FHETEE THEC (iii) Wi (iv) FELBEA

ERTIE T wa e e

() TREIOE (i) P STRARHIGS (iii) AT (iv) TTSETo
(k) Cholerais __ borne disease.

Tl 95 qlfee @9l
&1 (Cholera) USeT waled W &1 |
(I) NHPC is associated to the generation of power in India.
NHPC Sf&E =& Berie wige |
WRAIGSH NHPC wIite IogeAd i e )
(m) The Wildlife Protection Act was enacted by the Parliament of India in the year
SRS AR HICE I == =S Lo Foa |

HIRA®H] HHGel Tl IV HRe U SRfate et 21
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(n) Energy production is maximum at —

(i) Decomposer level
(ii1) Primary Consumer

(i) Secondary Consumer
(1v) Producer

(0)
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(b)

(c)

(d)

(e)

(f)

(g)

1145

=es Berive (1 0 FHIET —

(i) e w2 (ii) 5Tt v
Sl FeTET A1 WA AdIES g0
(i) aaoe '

(ii) STRUIA® ST (Secondary Consumer)

(iii) WTr¥® SUARHT (Primary Consumer)

(iv) Sc9Ts &

Eutrophication in lakes usually causes —

(1) Increase in BOD (11) Decrease in BOD
(iii) BOD is unaffected {(iv) Increase in COD

(iti) Rl AwE (iv) Bl

TR ZGLAI P 1 5 —

(i) BOD-3 3= (ii) BOD-3 2%
(iii) FofEEEam BOD (iv) COD-3 I
siemn gEifhed IR & &9 7

(i) BOD 959 (ii) BOD H<®

(iii) BOD amifda g (iv) COD 5%

Write short notes on: (any six)

efre B @42 (- 5715 )

oY © T BT S SR
Habitat loss

q=TET =4

qrEITe] &3

Disaster management strategies after earthquakes
e #Eae] Aoy cieifeam sfasi
qgaTclld] He ufts SusT Uewra! o
Moise pollution

o

Fool] Eoell JguvT

Causes of biodiversity loss

ety = TR

SIAfAUET eTa® BRES

Rain water harvesting

3% g e

EEINGEalEeR|

Wetland reclamation

TES A

Rpraregfie yase

In situ conservation

%4 B s

TR e

L
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Deforestation

T (TOZPCa=)

ERICEIE:

Ganga action plan

515 T CAG

T 1 AT (Ganga action plan)
Biogas.

=3 S|

IR (Biogas)

Answer any fwo questions: [5%2 =30
(F-CFI 7fo 2vs7 Tea wes

B GEAcl UTIEG®! IOX oEIE

What are the causes of excessive population growth in India? Discuss the role of 5+6+4

Family Welfare Programmes in controlling population growth. Discuss the role of
Government for Child Welfare Programme in West Bengal.

©ETe SefEs SRl I IR T 0w 9 @ cifaeE s e
S TG 9| AR e 2Fs TREIEE SR SEs 59

ARGINH FS T gDl PRUEE B B T ¢ OGS gigd
NIBUFHT URAR FHoaT Jroreedl  HEH] @R THEN | 9EEE g
FRTe] Hedor AT §RERS] YHGH =] TIE9 |

What is Food Chain? Describe the different types of Ecological pyramids. 24647
Discuss the flow of energy in ecosystem.

- [ ¢ [fen awm v FaifEies 3@ wie) Ireers «fem ezt wiEm
T |

G el ¥Ae & giRre 2 A oerer oRRue fivfie weer 9o
TEN | MRS T wfte g ut e |

Define water pollution. Explain the causes, effects and control measures of water 2+(3+5+5)
pollution,

&E VA RS 991 T FarE SR, @ ¢ e genef s 9

Gl WENUTS! URHIS] oiEge] | Wid WgHUIR] $RUEs, FHMEw 3 e

TURES TN SRS TR |

What do you mean by food resources? Discuss the positive and negative impacts 2411+2
of modern agricultural practices. Define organic farming.

4] R 4ot @ @R o e g seimeE o ¢ W gereR ST
4| 159 51 & ¢

el WS # @ 8 ? e P uenEiel AERE U9 ARRAS
FHTEAR g4l e | ifd® W &) afRemr oreE |

e
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UNIVERSITY OF NORTH BENGAL
B.A. Honours/General Part-III Examination, 2019

ENVIRONMENTAL STUDIES

PAPER-ENVS (REVISED NEW SYLLABUS)

(FOR ARTS)
Time Allotted: 2 Hours Full Marks: 50

The figures in the margin indicate full marks.
Candidates are required to give their answers in their own words as far as practicable.

1 Answer any three questions: 10x3 =30
F-FH fomit e Ted wes
i DIE] UTTEeH! SR AGTEIN: _
(a) What are the causes of population growth in India? Discuss the role of Family 3+5

Welfare Programmes in controlling population growth.

©iqred TRl JEd IiEdel & o wera I e AR s eeE
O AN T

YRAEYHT SFEE Asples! HRUES & & g ? S=aE gige Rwsom
IRIR BT ASESD! JASER Tl THEN |

(b) Give an account of the different sources of air pollution. Discuss the measures to 4+6
be adopted for the prevention and control of air pollution.

e [fen Setef sww @R I R frme e afSwm [{few Seimefs

LIGIT ‘
a1y ygyvie! R siaews! ReRT e | arg vgyvre! e i =
va—a'ﬁérr% =l e |
(c) What is disaster management? Mention the preventive measures for controlling 3+7
landslides.

Ry g & ¢ ofit «1 fagaeer o=y faizs e Some v
YT e & B ? HeTal AhIHD] SUIEEIR AR |

(d) Define soil erosion. What are the reasons behind excessive soil erosion? Write 2+6+2
any two measures to be adopted for the prevention of soil pollution.

e el we | S Shee Freel & & o ofivee anw @@ 1
Wmmmn

@WWWIW@WW%E%@?@
TR ABATHDT AT AT T B Feael SIAEHAN EFET |
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(e) Write briefly on food chain, food web and tropic pyramid of grassland.
TIGRE AT MR, AT 8 ARG TN FReweo! @)
ol We-gEe, @e-wrd AN St ARfiear BreadEr JaeEN |

(f) Define biodiversity. Give an account of ex-situ and in-situ methods of
conservation of biodiversity.

T rara W w6 | IR ex-sity G, in-situ TRIFEF & I2CH @TL)

S IRET ETEN | Safiyare WRe A TR EREVER

faaRor fegere |

2. Write short notes on any four of the following:

fafeie @-F o1afhe RFEPY B! =14

qTHT F ARILT Bl BIET DT AR
(a) Eutrophication

BRI

ESHILE ]

(b) Ecological succession

JEea T “IFFe (Ecological succession)
TRRed BT
(¢) Acid Rain
LEE
3 qut
(d) Endangered species of India
- IRAAND! JEUR: TSI Ie®
(e) Exploitation of mineral resources
Eie ST AT
() Sustainable development
2% Saae (Sustainable development)
waa fasr
(2) Role of information technology in improving human health.

W1 TCER Gafere v &Y o
Aa R GHRAT AT Taiiibeb] YT

3138 2.

3+3+4

2+8

5%4 =20



